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HSSC CET Group D Question Paper 22 Oct 2023 1st Shift

Mirror changes the direction of light that falls

1. zdo7 oT9 YT Y 9 W&Tﬂ%ﬁm@jﬁﬂf&ﬁ I on it. This change of direction of light by a
FHT Z@1 ¥ v @R e A e ¥ aE mirror is called?
T HEArar ¥ 7 ' (1) Displacement of light
(1) wepter 1 fereemas (2) Scattering of light
(2) WIS BT FHE (3) Reflection of light
(3) WesT H1 URTE (4) Reversion of light
(4) WIS BT TATIAIA (5) Not attempted
(5) Sax @ ¥ =med
) B 2. Match the following I and I :
I II _ Name of the Organ of
W F A A I Organism Respiration
A T~ L sam el A. Human being I. Trachea
B. &gan T I %3 B. Earthworm II. Lungs
C. @2 . freg (Fi) C. Insects L. Gills
D. moedl — — —IV. @ D. Fish IV. Skin
(1) A-lI, B-I, C-11, D-IV (1) A-III, B-I, C-II, D-IV
(2) A-1II, B-1, C-1V, D-1I (2) A-IIL. B-I, C-IV, D-lI
(3) A-III, B-II, C-1V, D-1 (3) A-III. B-II, C-1V, D-I
_4) A-lI, B-I, C-IIL, D-IV (4) A-II, B-1, C-II, D-IV
(5) SaT «Ef A1 °ned " (5) Not attempted
w1 § 1 ¢ wal B & -1 5 & T 9 S @Y | 3. Match the items in column-I with those in
gafoa #¢ - column-II :
-1 wu-11 Column-I Column-II
A. aR-uta . A. Salivary gland I.  Bile juice
B. 3 II. <gfem B. Stomach -7 IL Insulin
C. @Fd . EEgEwiE o C. Liver .——Z 1l Hydrochloric Acid
D. I IV, e D. Pancreas v, Amylase
wé fame g Choose the correct option :
(1) A-lV, B-I, C-III, D-II A1) AV, B, I DIl
(2) A-IV, B-I, C-II, D-1II (2) A-IV, Bl, C-II, D-III
(3) A-I, B-1V, C-1II, D-II (3) A-L B-1V, C-1II, D-II
(4) A-IV, B-III, C-I, D-II (4) AV, B-IIL, C-1, D-1I
(5) TR 7 ¥ e (5) Not attempted
. ) e B i e A v Ny 4. ;I':S ip;r(::lels:dof loosening and turning of the
) g (1) sowing
(2) Fer (2) harvesting
(3) frorrEm (3) winnowing
(4) garg (4) tilling
(5) STX E < Aed (5) Not attempted
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(3) 39 &1 AAET 70°C Ao
gasha #¥% T ey
(4)311#?%%%‘@%@%
(5) FaT T A1 AE

T T

9T «HT
T FaHs

6. ggmmmﬁmm—mw

5. frefifea § @ @ oA e #
(1) W& @& qrsfi®l '
(2) fraray ww @ S ST B
(3) TSy 1 F o § AR
_(4) W 1 Ay | wfadd
(5) T T oA o

5 ﬁwwmmwﬁgﬁmm%?
(1) R 7 areaemdd §
) e F e | e
() e % 9 & ofrc g A
(4) g @ o et &

< &

5.

-1
-

Pasteurisation of milk is :

(1) Heating of milk to about 70°C for about
30 seconds and then slowly cooling it
and storing.

(2) Boiling of milk and then slowly cooling
it and storing.

(3) Heating of milk to about 70°C for about
30 seconds and then suddenly chilling it
and storing.

(4) Boiling of milk ‘and then suddenly
chilling it. o

(5) Not attempted

Which of the following food items gives

blue-black colour with iodine ?

(1) Starch

(2) Minerals

(3) Protein

(4) Fat

(5) Not attempted

Tvphoid is caused by -
(1) Bactena
A£2) Virus

(3) Protozoa

(4) Fungi

(3) Not attempted

Condensation is the process of —
(1) Evaporation of petrol

(2) Separation of sand from water by
{ .

decantation
(3) Conversion of water vapour into its liquid
form »

(4) Conversion of wa}Er; into its vapour
(5) Not attempted 7

Large scale storage otz')gf'ains is done in :
(1) Silos and granaries._

(2) Jute bags [

(3) Jute bags and metallic bins

(4) Metallic bins

(5) Not attempted

(5) ot =¥ & =med

D —
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10. Pl & gafm =t

11.

12.

13.

14.

15.

_A37 A-lL, B-1, C-IV, D-III
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-]
A AW

A. Eiq I.
B. #Be 1.
C. wusfy- I111.
D. rm:><1v. .
(1) A-II, B-III, C-I. D-IV

(2) A-IIL B-1I. C-IV, D-I

(4) A-L BIV CIH DII

(5) STx & < ued

Wﬁwaﬁaﬁqzﬁswaﬁaﬁeﬁaﬁwﬁ
THT AT T T

(1) =

(2) 91

(3) =% FH

(4) st

(5) STt =& I 9=y

T & A A B
T E?

(1)-50 &=
(2) 30 g+
(3) 40 a9
(4) 25 a0

(5) ST =& I 9y
Y] TF geeehia & o
(1) T1 a1 ®ea &1
(2) 993 & MM B WUT &Y 3q T
(3) @I wEdl B WU FHT q T
(4) e @ &Y W T

(5) STz =& I qared

Frafafaa & @ aF-a1 damgifes £ 7
(1) remisd

(2) avrgftE ot

(3) whmmERT

(4) Sifsaw wHEHe

(5) Sux =Ef <=1 9@y

TS Prfoiaa & @ fedas sifeamgs & 919y
9T M Bl WiHaT & 7

(1) 3t

(2) Teghtre

(3) @i
(4) dren

(5) STX & 1 wEd

ATH AT gl

IKSHR / X3 / Page 4

— |

10.

11.

12.

13.

14.

15.
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Match the following :

Column-1 Column-II
Name of the Movement
Animal

A. Snake I. Swim

B. Fish II. Slither

C. Bird III. Walk

D. Cow IV. Fly

(1) A-II, B-III, C-1, D-IV
(2) A-III, B-II, C-1V, D-I
(3) A-Il, B-1, C-1V, D-III
(4) A-L, B-1V, C-1II, D-II
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects
(1) less

(2) equal

(3) very much less

(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to see the objects clearly -

A1) 50 cm

(2) 30 cm

(3) 40 cm

(4) 25 cm

(5) Not attempted

Pathogens are microbes which :
(B Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(1)~Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted

heat

P.T.O.

Visit Website "Sarkaridob.in"



16.

17.

18.
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T
RIX3/Page 5

. wEEE § @ ggd wedyel @ ¥ uw @

Visit Website "SarkariJob.in"

j:;ém N S 3 o
(1) 472 &L
(2) 528 T
(3) 452 8L

(@) 521 T
(5) g El 1 =

prefftad ® @ @I BTN & gy genE 47
(1) deft @t

(2) wad A 9T

(3) 1 fat= fuw

(4) gl T

(5) TET E &A1 a@Ted

w2 ¥, qE TS d Al E Y
(1) grf wfiteig

Q) o &=

(3) saTn

(4) srf7 @
(5) T & = @rEd

s o Rt () S S
TS E?

(1) 90-110

) 110-130

() 130 - 140

4) 80-90

16.

17.

18.

19.

20.

How many total number of canals are there
under 'The Bhakra System' in Haryana?
(1) 472 Canals

(2) 528 Canals

(3) 452 Canals

(4) 521 Canals

(5) Not attempted

Where is IIIT, Haryana located?
¢1) Sonipat

(2) Kamal

(3) Kurukshetra

(4) Hissar

(5) Not attempted

Who amongst the following was the first
Chief Minister of Haryana?

(1) Bansi Lal
(2) Bhagwat Dayal Sharma

(3) Rao Birender Singh
(4) Banarsi Das Gupta
(5) Not attempted

Fatchabad, is home to two very important
monuments. One is The Lat; which is the
other one?

(1) Humayun Mosque

(2) Dharamkshetra

(3) Banawali

(4) Arjuna Sthal

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State

have?

(1) 90-110

(2) 110-130

(3) 130-140

(4) 80-90
(5) Not attempted

(5) T =& 2 =mEd
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21. Frafefas womt o R Hifg
A. s@mn ¥ 8 wematre wumm ¥
B. dage sRamm & wemafs gard d &
& ¥l
SUgdad HuA (i) ¥ § B wE &7
(1) B &aw
~(2) A 3R B 2FY
B)aa AT & B
4) A s
(S)W‘ﬁ%ﬂa@

22. a@mﬁaﬁﬁw&iﬁaﬁﬁmmmqﬁ
TR
(1) w18
(2) I
3) femr
(&) Ryar
’(5)/mqs°famma

23. zﬁamwmv@rm%?
) Aeferar ‘
(Zbaﬁw
Q)ama«

@)
(S)WTé’r%mm%

24, zﬁawnﬁwaﬁqsﬁgmaﬁwmaéﬂﬁﬁ
T e
/ﬁTSeﬁa 2018
(2) 25 wxEd, 2017
,(3)/10tnff 2011
(4) 8 i@, 2015
(ﬂﬁ’(?ﬁf%‘ﬂﬂﬁﬁ

25. sEfew r-i’ﬁ?t H1 BT BEl & 7
((1)trr=?ma
(2) dud
(3) wAeIT
(4) Rrar
(5) SuT & < @EA
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21. Consider the following statements :

A. There are 8 Administrative Divisions in
Haryana

B. Panchkula is one of the Administrative
Divisions of Haryana.

Which of the above statements is/are correct?

(1) B only-

(2) BothiA'and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Charkhi Dadrl does not share border with
which one of the following?

(1) Mahendragarh

(2) Jhajjar~

(3) Hisar

(4) Bhiwani

(5) Not attempted

22,

Which is.,'ﬂ;e state flower of Haryana?
(1) Dahlia®

2) ;I'ulip"‘

3) Lotus ik

4) Mangold

(5) Not attempted

23.

24. In which year was the Pradhan Mantri Mudra

Yojana launched in Haryana?
(o 8th Apnl 2018 °
(2) 25t February, 2017
(3) 10th March, 2011
(4) 8th Alpril, 2015
(5) Not attempted
NG

Tomb of dbrahim Lodi is located at :
(1) Panipat
- (2) KaitHal

(3) Jhajjar,

(4) Bhiwani

(5) Not attempted

25.

— |
6 & % forg v/ SPACE FOR ROUGH WORK

P.T.O.

Visit Website "Sarkaridob.in"



Visit Website "SarkaridJob.in"

| _] e Rt & ga-11 3%
26. T ' o A P
-1 TR—11
A @R AH L ®Em
B, sy Il Tsmig
C. wEta® o 1L S9En
D. @ qb — IV. urfiug

27.

28.

29,

\
Ks
HR/x3 / Page 7

3 R o faeedl § ¥ WE IqUHT 9w Hifa
(- A-1V. B-IL C-1. D-IIT [
@ A-IL BAIL G-IV, DI
3) A-IIL. B-1. C-IL. D-1V
(4) A-l. B-11, C-III. D-1V
(5) ST e A1 T A
g gen T (o @ o) 3 Hw F Prefied
et T R AR <o
A. e UE HET een giad 9 )
B. 9t " TGN % & HA@I & AMHD
frasomei| ¥
¥ ¥ B YA HUF a7
(1) %o« B
QA 8t B 3
G)TAFRAEB
(4) ®ad A
(5) Sax & AT ATed

FiaTe i A el T
(1) 2,00,00,000 — 3,00,00,000
(2) 3,00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4y 1,50,00,000 — 2,00,00,000,

o]

L

1 (1 6

Lo Q0 S sq, S
A7 cxd

s
SN

V. oy

i 7
mp
-

(5) = =& &7 A >

‘g @1 g’ %wﬁ'@i@{mm%?
(1) wrEe f

(2) Beder el

(3) T [t

(4) sy

(5) were =i &= A
fore o

- BT g1 g Rl gfaron @, ¥
frem & 7 o34
(1) femre !.»)1
() zurr [ 4
(37 vt E
(4) farar

20.

27.

28.

29.

30.

Match List-I Tourist Centres with List-II their
location.

List-1 List-1I
A. Sky Lark I. Hodal
B. Damdama [I. Gurgaon
C. Dabchick [1I. Uchana
D. Karna Lake IV. Panipat

Choose the correct answer from the options

given below :

(1) A-1V, B-II, C-1, D-III
(2) A-11, B-III, C-1V, D-I
(3) A-III, B-I, C-II, D-IV
(4) A-1, B-I, C-III, D-IV
(5) Not attempted

Consider the following statements in respect

of the National Security Guards (N SG) :

A. It is one of the Central Armed Police
Forces. pere

B. It comes under the administrative control
of the Ministry of Defence, Government
of India. :

‘Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

What is the approximately population of
Haryana?
(1) 2,00,00,000 — 3,00,00,000-.
(2) 3,00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4) 1,50,00,000 — 2,00,00,000
(5) Not attempted Lo

e

F 2!

Which is known as the "Cherrapunji of
Haryana"? o3
(1) Kosli P
(2) Chhachhrauli '
(3) Rewari

(4) Thanesar

(5) Not attempted

1

The ancient Fort of Madhogarh is located in
which district of Haryana? -/
(1) Hisar (
(2) Jhajjar O
(3) Mahendragarh [
(4) Sirsa 1
(5) Not attempted (=

(5) e g Ze ArEd

<5 v % forg W / SPACE FOR ROUGH WORK
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31.

32.

33.

3. @

3s.
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THha T I saAE (uad §) & an A

frafafaa Haa gv far it

A. e &1 o g & & fer ¥ o wa & O
g o )

B. &t & s ug & & soEs F g @
g atfis ¥

SUHE H ¥ BN G HUT w8 BR T

(1) &a@ B

(D) A X B 2=

B)TAIMATEB

(4) Fad A

(5) ST & < A@Ed

Taiaeer €YV quT gadq @ e § warEl @
W%@f?ﬂréﬁwwsﬁmﬂﬂm%@

%&ﬁm%?

(ﬂsﬁww
(3) dfsa wET=
OERtEEISESE
(5) SO & & 9wy

REEE] aa’fﬂf@fﬂvrm/ﬁaﬁ%/%?
(1) &aa B

(2) A X B 3=t

BT AIRTIEB

feeeht & T Rem ¥ =famn v ememfg
TEE?

(1) =fam

) gd

(3) ufyTm

(4) ¥xT

(5) wa TE & aEd

IKSHR / X3 / Page 8
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31.

32.

33.

34.

35.

Consider the following statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

For recognizing the efforts towards
environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?
(1) Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

(3) West

(4) North

(5) Not attempted

Th B & T T / SPACE FOR ROUGH WORK

P.T.O.
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¥ & B BET % wdt oy qreafs | 36. Which of the following is NOT a part of the

o CE ALl T e traditional' attire for men in Haryana?
O o
@ @q?ﬁaﬂ (3) Sopali
e : (4) Safa
@ Wqﬁ 37 Ay (5) Not attempted
(5) Idl
P £ 37. Consider the following statcmen.ts :
37 el X Hg A. There are ﬂvc; Police Commissionerates
A. e & uiE g emrgeer ) in Hawana. ' o
B. HUGER ¥ gierd STgaTay Rerg ¥ B. farlf[i:(;)atc}i];z;s a Police Commissionerate
srda H oca ;
;i S, Y S Which of the above statements is/are correct?
.= : ' (1) B only |
(ﬂAaﬁTBﬁ (2) Both A and B
G a; A STTHE (3) Neither A nor B
(4) A | (4) A only
(5) ¥T e & (5) Not attempted
3, 7@ aUE wEl Red ¥? ' 38. Where is Brahma Sarovar located?
| 1) BT (1) Fatehabad
( 2E| (2) Kurukshetra
@ g—jn (3) Hissar
B) ST (4) Sirsa
% B (5) Not attempted
(5) s |
; 39. Fomous sportsperson Yogeshwar Dutt 1s
3, gfrz RaerSr drteat qa feE @ FEEE? | ssociated with which sport?
(1) FromeaTsi . 8 \S;loogflg
| restling
g; iﬁﬁa‘cﬁ ' 4. : (3) Javeline Throw
W (4) Boxing
5 . SararEd (5) Not attempted
(5) SaT E <. S
" 40. In the dance form 'Loor', the word Loor
40 ‘ y . a:)'l' \'-H'?j % _? o
© TR A Ly 7 q = gl means?
(1) AR (1) Ornament
(2) & (2) Music
Q) waa (3) Crop
(4) =ferent (4) Girl
(5) Not attempted
(5) T =& & @red p
I / SPACE FOR ROUGH WORK ' PTO.
l 1 & g
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42.

43,
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%%ﬁmaﬁ%gﬂw

44) 30%

ar wAr gt A, B, C 8 D &1 siwed
49.5 ¥1 §E B, AKX D &1 FEE w1 2

145 [
() 2450

P

2) 2352

(3) 2550

(4) 2499 {wj

(5) X TE éﬂg;rnz%
m_l

X 8000 Fr Tfn"5% =t wwgfs = @ w

W e adt ¥ 2 9261 B W, Srafh e
s G e ?

Sy

42,

43.

41. The single discount equivalent to ty,

successive discounts of 20% and 10% is -
(1) 25%

(2) 28%
(3) 27%
@ 30%
(5) Not attém’pted

¢
't
Sauf

Th
e average of four consecutive numbers A,

B, C and D‘ 1s 49.5. What is the product of
Band D? '

e

(1) 2450 [
(2) 2352

B
P

e

(3) 2550
4) 2499

(5) Not attémpted
e u ’

In how many years will a sum of ¥ 8000
at 5% per annum compound interest,

03 © ms o

oy ) [

2 Ev.,._ 1:,‘,‘;‘

4= ' 2 e
ZEN () A3,

lﬁ -

3 |

(3) s 3) 5 e

o <

3] (3 o

(4) 33 ) 1 oy

3 o @33

. fie ' frnd

() s =& éﬂ}’mﬁ (5) Not attdmpted

IKSHR / X3 / Page 10
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44, 5-3F10 GIA B wE@m, S 12, 15 s 18 &

45.

46.

IKSHR / X3 / Page 11

ot ¥, &0

(1) 10,015

(2) 10,020

(3) 10,080

(4) 10,010

(5) T T

2 x31x5%, 2237 %527 s

24><34x5><72x11 &1 HCF 2
(1) 2%2x3%x5x7x11

2) 24x34 x5’

3) 2% x34x5° x7x11

@) 22x3%x5
(5) ST A& I 9@Ed

2 9.30 iy Redmm @@ g @ @ 5= Fa
g & 8:7 % orgu ¥ e T A s
1 g T 10 Wiy Reeim &, T I & T
&1 qeq Wi Reemm @@ ¥ 7

(1) ¥ 10.60

(2) T 10.80

3) T 11.00

471030

(5) wux & ¥ A

44.

46.

The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10,015
(2) 10,020
(3) 10,080
(4) 10,010
(5) Not attempted

2
 The HCF of 22x33x5°, 23x3%x5%x7

and 7Y x3* x5x7Ex11 is

22x32x5>'<7><11

(D

@) 24x3%¥x5°

24 3% x5° x7x11

5] 2
2°x3°

(4) x5

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) 2 10.60

(2) ¥ 10.80

(3) T 11.00 :
(4) ¥ 10.30

(55 Not attempted

<% & & [ W / SPACE FOR ROUGH WORK
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47. a: b % y&% wg ¥ WS W gt g@@n frad | 47. The number that must be added to each term .

T c:dura &, & - of a : b so as to get the ratio ¢ : d, is :
ac+ bd ac + bd

(N ' (1)
c+a ct+a

@) ad#bc 5 ad + bc
c+d ) c+d

3) adl—bc 3) ad — bc

( Cfd c—d

4, Gb=cd ) b-cd

@ a-b ® a-b

(5) =TT TE [ Uy (5) Not attempted

48. fed TN & 3:5 % argura & Ry fear | 48 A certain sum is divided in the ratio 3:5.

A T AT IS E, R E If the greater part is T 73, then the sum is :
(1) T 130> (1) T 130
(2) 150" o (2) 2 150
A3) 7240 | (3) T 240 ey
(4) T 120~ | 4) T 120
(5) wox & ¥ a@wd (5) Not attempted
49. TR 0 <xsl AR 49. If 0 <x <1, then the gti@féiesthumber among
e § the following is :
M o s s
@) 2 3
19 L
<(3) A , : () 2 :
4) x . @) x [
(5) @/ TE M A (5) Not attempted ||
IKSHR / X3 / Page 12 T &1 % frg T / SPACE FOR ROUGH WORK R T vy L

A { y P-T.O-




50.

1.

Visit Website "SarkaridJob.in"

1
A TH & H —

3m5ﬁ=|’f=¥mm%_

D
mﬁ?Bmmm?mloﬁaﬁm

gadl &1 A T B A et aY 9w o @
mﬁfﬁﬁ‘mmm%?

4
8—
(1) 8z

3 oo
@ %% -
(3) 10
1
@ 75
(5) TR & ¥ = ﬁi

s

T HeX qEE, A wEd, ﬁfﬁl’ai @ T
65 fert &, aaehaaaﬁﬁzu-élomzm

| ¥ SEay wifay He wiw Bt

S2.

\\
IKSHR / x3 Page 13

(1) 500
(2) 600
(3) 700
(4) 200 e
(5) SuT & M oaEd
Aqu B ¥ g ¥ 85,000 qe ¥ 15,000 @
T AR ey fpar| s T & A, e A
&% o & ww@r @ st wEm?

(1) 3:5 <
(2) 15:3 e

#3173
@) 3:4 s
DRSS R R

50.

51.

52.

, 1
A can complete = of a work in 5 days and

3

2
B can complete 35 of the same work in

10 days. I‘n how many days both A and B
together can complete the work?

4
8—
(1) 83

3
@ 9%
(3) 10

1 f:*
“4) 75 o

(5) Not attempted Lo

A motorlst travelled between two towns

The speed in meters per mmute is:

(1) 500 _ e

(2) 600 "

(3) 700

(4) 200

(5) Not attempted :

A and B started a busmess by investing

% 85,000 and T 15,000 respectlvely In what
ratio, out of the followmg, their profits will
be divided after one year?

Mm@
@) 15:3 =
@) 17:3 2
4 3.4 -

(5) Not attempted

mﬁm T / SPACE FOR ROUGH WORK
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54. 18 & Yo A TF wHS B @ A, 3 QW

o T Ree T A WA 87
(1) 216

@6

(3) 218

(4) 36

(5) IO & I Ared

55. ufx /3=1.732 @@ /2 =1414 &, @

1

——

Bz T

(1) 0.308
2y 0.318
(3) 2.146
(4) 0.064

(5) AT 7 & A"

54.

SS.

_i_+—l——+——2—x'7j=?
x—1 x+1 1-x

1 2

) 3

(3) 4

@1

(5) Not attempted

How many cubes of edge 3 cm can be cut
out of a solid wooden cube of edge 18 cm?

(1) 216
Q) 6

(3) 218
(4) 36

(5) Not attempted

If /3 =1.732 and /2 =1.414, then

1
m is equal to
(1) 0.308
(2) 0.318
(3) 2.146
(4) 0.064

(5) Not attempted

IKSHR / X3 / Page 14
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56. % A + B i ®, ‘A, B @& g 3y 56. If A + B means 'A is brother of B'.

= ' '(ET "
A - B ad 3, A, Bé il A — B means 'A is the husband of B'.
A xBawrad & ‘A, B% far ¥

@PxQ+R—Swadt: A x B means. 'A is the father of B'.

Then P x Q + R —S means :

@) Q.SH ¥ e3
@ S’Paﬁq;ﬁ%;‘: . (1) Q is the husband of S
v (2) S is the wifeof P
(3) P, S % form ¥, - (3) P is the fathe}ruof S
@ P S % wRE (4) P is the father-in-law of S
(5) TaT T T Enz?"f (5) Not attempted~

-

57. M SN SEd & WI? H Aeaafisg Fq o f2mr | 57. A set of English Jetters is given below in a

mar ¥ dEE & G‘G AT @ g9aT w5 Pk jumbled order. Select the combination of
AT e & Faftad &3 T v ey g numbers so that the letters arranged
il ’ accordingly will form a meaningful word.
TOARHU TOARHU
1 23456 | (2 314 50
(1)3,6,1,4,5,2 (1) 3.6, 1, 4. 5,2
(2) 3’ 6, ]’5- 2.4 (2) 3.6, 1, 5,24
(3) 2,4,51,3,6

(3)2,4,5 1,3, 6
(4) 4’ 2‘ ]’ 6’ 3! 5

) 4,2, 1,6, 3;

5
(5) Not auemplea

(5) I FE ¥ = =
- _ W e & wdi 58. Cl‘ltlu:jox the option: which is related to the
iaéﬁlw ifiTe . 3 third term in the-same way as the second -
5 9T |
H.H?R H:ﬁ-la g, o g @O W e term is related to the first -
SEIRCE , Pen : Write 1 Spade : ?
B » foveT ;ST - =
(1) Dig —
w@w ™
o =3 (2) Cut £
®wr o i S
4) e - el
R (5) Not attempted
() ¥ & A1 =R
\
'KSHRlxs/page - e mﬁ%ﬁi‘lwﬁ/ SPACE FOR ROUGH WORK . PT.O.
: 5 gARH Ao R U
Abe 0GF pw 2 Hré 7R |- (
TIRLAnep L XD 2Bk I
B RS Tuy w
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(4) =
(5)3?{13%1'%‘-1161'5%

60. 2 Ho 3T 3EF A @ Freed [ afw 11 fg o
¥ g T B B T AT §Y AR S R
T et @ = & i T wdl e |, Pty e

5 o= T/E Fred R o ey % smum ux
qeHET w0 ° Seadr ¥few

Fw W ARl wda ¥

T TEETR we ¥

- P AEr qeEER ¥
) v wdq =fEt ¥)

(1) ¥aw Fremd 11 frererar )

(2) Ty 1 ofX 11 <Y Praea )

(3) 7 @ ey 1 efT 7 & 1 freparan 1 -
4y Fam fred 1 P )

(5) ST & I e

foerd

K\é 61. YT=-gae qaica & 9, T H T @ W
12 A T @ e @ P e A A 3
:_,/d- S A = w1 R Rom ¥ en?
| '~ e
gﬁ/ (2) e
oYy ) smoakmm
] Ly O

(5) T <@t 3 =

)

‘ 0 c . q .
;Z 62.%?132[@@‘}@‘311@13%?16%:
143, 149, 158, 170,

59. Choose the odd one out :
(1) Quintal
(2) Kilometer
(3) Kilogram
(4) Gram
(5) Not attempted

60. Two statements are given, followed by two
conclusions I and II. Assuming the statements
to be true even if they seem to be at variance
from the commonly known facts, decide
which of the conclusions logically follow(s)
from the given statements :

Statements : All rivers are mountains.

All oceans are mountains.
‘Conclusions : (I) Some rivers are oceans.
(I) Some mountains are
rivers.
(1) Only conclusion II follows.
(2) Both conclusion I and II follow.
(3) Neither conclusion I nor II follows.
(4) Only conclusion I follows.
(5) Not attempted

61. Early in the morning after Sunrise, Sunny

was standing facing a pole. The shadow of

the pole fell exactly to Sunny’s right. Which
direction was he facing?

(1) East
(2) West
(3) North-West
(4) South
(5) Not attempted
62. Find the missing numbey in t
143, 149, 158, 170,
(1) 185
) 190
(3) 192
4) 182
(5) Not attempted

he series -
—  , 203

- ,203
185
(2) 190
(3) 192
(4) 182
(5) T TE T Ay
W3_
jM\/ IKSHR / X3/ Page 16
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e * o ‘
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*; 2 )Srg ; : T =

Visit Website "Sarkaridob.in"

T &1 % R0 T / SPACE FOR ROUGH WORK

P.T.O.

Re ]



Visit Website "SarkaridJob.in"

63. TRl a9 ¥ wref e <en Ry ATt A, o T 9

& ST WM w1 arfm R @ enm?
(1) ghar

gf SIEECIEY
(3) Er

(4) TBaAT
(5) ST & [T Ay

64. aza:ﬁmx Y, Z, M, N iR O 3eX & &iX g
aﬂ%@qﬁﬁﬁa‘%% éﬁmmawaé’r%ﬁs
tfé’rwfrs’n'Z' 'X'a?r'{'N'%‘e?rirﬁ‘é‘BT%‘l

ﬁmﬁwmﬁ% Y, 'N'asaﬁzsar&%n

'o_'mﬁj%fﬁﬁ_ T M ¥ el @ B
M ZadY

(2) O st X

(3) O &t N

(4) X st N

(5) SaX T & =@Ed

65. ok 1% Hz W ¥ 'VIETNAM' &1 %2
'WKFVOCN' %, &t 3dt g2 w1 # 'BRITAIN'

63.

64.

65.

The fourth day of March in a year was
Thursday, what was the last day of the next

month in that year?
(1) Friday

(2) Saturday

(3) Sunday

(4) Thursday

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not
necessarily in the same order. 'Z' is sitting
between X' and 'N'. 'M' is not at the end. 'Y’
is sitting immediate right to 'N'. 'O’ is not at
the right end. Who are the neighbours of M?
(1) Zand Y
(2) O and X
(3) O and N
(4) X and N

(5) Not attempted ‘

If in a code .language 'VIETNAM' is coded
as 'WKFVOCN!, then how will 'BRITAIN'

@ fpg g frar R ? be written in the same code?

(1) CTIWCJP (1) CTIWCIJIP

6) CTJVBKO (2) CTJVBKO

(3) CTIUCIP (3) CTJUCIP

4) cTywBKO (4) CTJWBKO

() Tt =8 S (5) Not attempted
% < @ % R T / SPACE FOR ROUGH WORK 2 P.TO.
VIeT wam g RITAVD 3 BRI T AD

ktv e w C«(’jyjf Q":{ Vﬁﬁ K
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66.

67.

68.

69.

70.

Visit Website "SarkaridJob.in"

‘gswmﬂ'asu‘rrrﬁaﬁwwmw
& T -

(1) PprsE

(2) FAET

(3) §3TI§FT

(4) PmEd

(5) wuX T AWM A

FgEY IR UT @1 Siia fe ¥ -
(1) i gow

(2) HET Ie¥

(3) & I2W

(4) piwa oo

) wa@r%mina?f

ﬁqwqﬁmmﬁﬁmqﬁrémt{qgaauﬂm
qE g T ?

L)

(l)agﬁﬂ%mm,ﬁaﬁwmmﬁ

|
(2) & e, ﬁmmmﬁm'
(3)38%%%%% N
4) g= fra smﬁﬁass‘r?
(5) TOX & T =@

‘Herdl g5 BT & fg, BUgH qEEd ¥ —
(1) =g digen! -

OECER LS (I

(3) & FH B [

(4) B gy AT S

(5) Sax =& & Awd

Tt smaﬁrwf&mwgaﬁwhaﬁam%-
(1) gg

(2) ef&T -
(3) sifarat =
(4) ATTa '
(5) maﬁ&mm@r

—m;\;

72.

(S)W:@%mfrrs%

3.

74. ¢

7S.

71. lﬁrmaﬂ":{aﬁm%_—

(1) 7=

(2) 7

(3) ¥

(4) &

(5) wTT TE & ﬂTﬁ‘c“‘f

aﬁa?rgftz@fa%‘ﬂﬂf-sm g T ?
(1) g&

(2) g
(3) @
4) g

-~

Wﬁ%ﬁ—m@waﬁ?m@ﬁ?
7 s
(1) SRR ;ff’

(2) &
(3) sfemgaTE =
(4) g '

pei

(5) IAT & I T [

(l)mﬁﬁ"sﬁ]m%w&m
(Z)am%%m%slﬁ%\w&m
(3) anyfra shew ¥ w&fm
(4)#%@?3%@?‘6‘%@%
(5) STX R < A

T m@faﬂﬁaﬁnw&nssng;fsm%_
(1) areettees =

(2) it A i:
(3) st >
(4) wiea =

(5) TR & < uwd

IKSHR / X3 / Page 18
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a-sf 1950 % WEH ¥ a@ry

16 gt ¥ ST Wﬁ:ﬁm feay
WW@‘%&'&H&TP o
(1)?1-?5-
0 =
(3)“’2 i
4) 4
Ebmﬂ'&%mm‘s%

BT 2023 5T 20 s
l)a;:'ﬂgT N\
() TERT
(3) EIRIE] -
(4) TR STRIBT 7y
(5) ITX TE <A e

i

78, <Ry e TSN BT h (MEShoig ¥ Ry
FaEE JEEAT & °
(1) &
(2)=?r

Ermy
(O
!

!

Wﬂﬁémzn%ﬁ

79. ﬁwﬁiﬁaﬁﬁ@fﬁmﬂwaﬁ “ATCd &1 95 T’
Wﬁﬂ?ﬂ%? [~

(3)
(4) wra
()

76.

77

78.

79.

RPN sy eeeeeeeeeeeneeen R
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Civil Rights Movement of 1950's put an end
to social discrimination. From where did the

movement begin?
(1) UK.

(2) FRANCE ©

(3) GERMANY

(4) U.S.A.

(5) Not attempted

Which country has taken over the
Presidentship of G-20 from India in the year
20237 _
(1) Canada -+’
(2) Bangladesh '
(3) Brazil "
(4) South Africa .
(5) Not attempted
Yt
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?
(1) Seven
(2) Nine Lo
(3) Three f—-z
(4) Five
(5) Not attempfed

Which of the followmg states is known as
'Sandalwood state of India'?
(1) Karnataka

1) Fes (2) Meghalaya
8 arer (3) Uttar Pradesh
0) w7 wiar 4) Chhattisgarh,
ey 5) Not attem ted
@ vy ) =
(5) wuv =& ém‘iﬁigﬁ 80. Match the fol!ovymg
8. P -y N klst-llﬂ Sﬁt " List-IT
. T . Rowlatt Satyagraha 1. 1918
-1 = i -1l B. Civil disobedience II. 1919
A. T ™ 1918 movement
B HEAE [~ I C. Mill workers' strike  IIL 1922
o W rm oridre L. 1919 D. Non-cooperation IV. 1930
: T TN B sedrd 1. 1922 movemernit-'
_'ﬁ'%{ b e 1v. 1930 g;;g(\fe the CC:rr%ct answer from options
) A-m A e et (1) A-lIl, B-ILC-L, D-1v
Q) Aqr g B-II, 1, DIV (2) A-IL, B-IV, C-I, D-II[
() Aqlj, g BIV, G, D11 (3) A-IIL, B-L, C-IL, D-1V
(4) Ay B, C-II D-IV 4) A-11, B-1, C-IV, D-III
(5) T “%-qu?lv D-II1 (5) Not attempted
ey '
M// GH WORK
/ GPACE FOR ROU bT.
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_

ate in India was the first one to

ich St b
g1, ¥ fpg od ¥ AATE A e gE 81. i\:llttrlgzluce Mid day meal scheme’
A (1) Tamil Nadu
(1) T ) Karnataka
& (3) Andhra Pradesh
(3) " WA o1y eockln
(4) ¥ (5) Not attempted
(5) wa T & A | )
. g2. Which is the second largest continent after
82. et B foa ¥ Tl % AR qET wad T Asia in terms of area?
T - 7 (1) Australia
(1) st (2) Africa
(2) st (3) Antarctica
@) gk (4) Europe
(4)- 70 (5) Not attempted
(5) TET T I A
i 1 of Drama (NSD) was
83. T AT e (TeEd) A e ey ad 83. :;eugiﬁoviilicicgg;? )
g (1) 1975
@ 1959 @ 1959
& 1576 & 197%
4) 1976
(5) SaX & I 9@wd (5) Not attempted
84. SraEdT ST @1 99 4% el AT wE ReaEi 84. Non-cooperation movement was called off
5 Prefofad & & fow am & o @ & A ? when peasants set fire to a police station in :
(1) 9rd 9o (1) Chauri Chaura
AT, o o
" (4) Kheda
CHRCE
(5) TAT & T AEA (5) Not attempted
85. %TTRT argasd fhad @ § frfra 7 85. g;;:rt)mosphere is divided into how many
o il (1) Five
h (2) Seven
Ei; ?ﬂg (3) Nine
' (4) Eight
DRSS (5) Not attempted
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g6. TS e Raemey A R 9 391 % firg | 86. Famous cricketer Ben Stokes plays

3 Fohe g ¥? international cricket for which country?
(1 ‘ (1) New Zealand
(2) 3l (2) England
&) smferan (3) Australia
(@) Jw=E (4) West Indies
(5) ST T 4\l (5) Not attempted

g7, foa ad B RRLE (R T I pee— T e 87. In which year did the Congress and the

e e g7 Muslim league sign the Lucknow pact?
(1) 1909 (1) 1909
(2) 1915 2) 1915
i
@) 1906
(5) SO TE I TGy (5) Not attempted
: : - . . | 88. In Mahatma Gandhi National Rural
3. i i IS A aifiram, Employment Guarantee Act 2005
200_5 (FTEm) § WA a@R ¥ af § fpam (MGNREGA), how many days of
& & U @y Ty <& &2 employment are guaranteed in a year by
(1) 75 fe= the Indian Government?
(2) 100 f&= : (1) 75 Days
(3) 90 Days
4
) 120 %71' (4) 120 Days
(5) SaT =&l <= aEd

(5) Not attempted

8. fow =i 3 9 2019 % R wRa T B T 89. Who won the

'‘Bharat Ratna Award' for year

Har? 2019?
(1) wrg Tt (1) Pranab Mukherjee

@ gt 2 (2) Dr. Bhupen Hazarika
() W, dor.ame, T ’ (3) Prof. CN.R. Rao
@) weme e SE | - (4) Ustad Bismillah Khan
) vat Tg?ria'némmlﬂﬁlg | (5) Not attempted

0, g N i ? 90. Which bird does not make its own nest?
??;{‘;mx A wé o (1) Indian robin -
& o | (2) Koel
(3) Tailor bird
3) R ffear (4) Weaver bird
4) T fiafeay (5) Not attempted
PACE FOR ROUGH W
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92.

93.

94.

9s.
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Change the following sentence to indirect

speech.

He said, "Nambiar works hard."

(1) He said that Nambiar was working hard.

(2) He said that Nambiar had worked hard.

(3) He said that Nambtdl had been working
hard. iy :

(4) He said that Nambiar worked hard.

(5) Not attempted -
v

Choose the correctlyspelt word :
(1) incradulous

(2) incredulous

(3) incredulus

(4) incradulus O

(5) Not attempted <
(@)
Pick out the part 0f<the sentence which

“has an error. If there is-no error, your answer

l"\l

is e
The whole block of ﬂats /
A
including two shops were /
. B .
destroved in the earthgquake.
C D
() B &)
2) C o
(3) No error [
4) A i

(5) .Not attempted [~

Choose the alternative which best expresses
the given sentence in Passive Voice.

Must we cut this treé?’

(1) Must this tree wds cut?

(2) Must this tree becut?

- (3) Must this tree iscut?

(4) Must this tree will-cut?
(5) Not attempted

rH
e
Find out the synonym of the underlined word

in the following sentence.

Colours, like featurés) follow changes of |

emotions. ]
(1) movements D
(2) sentiments @i
(3) under-current ™
(4) moments rH

(5) Not attempted ([~

96.

97.

98.

99.

Replace the underlined word/phrase with an
alterpative to make a grammatically correct
sentence.

"The ladder will be collap_se if you push the
wall with both the hands.

(1) will have collapsed

(2) will have been collapsing

(3) No change v

(4) will collapse I

(5) Not attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.

Our hockey team scored the winning goal
at the eleventh hour

(1) at a crucial t1m?

(2) before an hour .

(3) at the last minute-

(4) in the beginning

(5) Not attempted

Fill in the blank Wi’th' ‘correct form of verb.
Neither of the two men very strong.
(1) was (A
(2) will be 1
(3) shall be e
(4) were rﬂ

(5) Not attempted

Arrange the following parts of the sentence
to make a meaningﬁfl_f’ sentence.

A. to understand <

B. to many people

C. threatening and" eVen impossible

D. grammar appears

(1) BDCA ?_fj
(2) DACB b
(3) ADBC
(4) CABD

(5) Not attempted

-

100. Find out the antonym1 of 'democracy'.

(1) republig N
(2) delicacy
(3) monarchy

(4) popular

(5) Not attempted

L
s
P
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